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geTaet 1.2
A 1:
1 quifes g fif@e Riget ()@ 7§ () 3R -108 () a02
g.31:
(a) T e g e R @ 7 80 —5+(-2)=—7
(b) T quifes g forf@y T 3k —10 8 —2-8=-10
(c) a1 quites g forfae et anT 0 8 —5+5=0

A3 2:

(a) U% TH1 HUNETH Quites i fifau et 3fek 8 B

(b) T BUITHS YUl 3R Teb YT Quifeh fof@T frepr 4T —5 |
(c) U HUTHS YUNidhr 3R Th YT YUl IR formaT siadk —3 B

(a) 2-(-10)-2+10=38 M) (-7)+2=-5 (g (-2)-1=—=2-1=-3

A3 3:
Tl g4It & o9 STRRIR Tadx] (rounds) & €1H A §RT UTW fbU 7T 3id —40,10,0 3R AH
B gRT U fahT 71U 3fa 10, 0, —40 &1 {59 &\ 7 31fiies i U fhu? &1 89 Fg Id & &
quifep! o farelt ot oo o st o Wehell 82
g.3w 3:
< A gRT U b 1T 3 = —40,10,0
WA S $d 3 = 40+10+0=-30
<19 B gR1 U T 77T 3fh = 10,0,—40
& B & e 3 = 10+0+(—40) =10+0-40 =-30
3{ct:, G <l & Hdl 3 SR1eR 8| B, 89 Yuifen! @I fareht +ft v o Sl wahdl B
A3 4:
FafIRed U= & 9 a9 o fore Rad wiFl &t gfd i
M) (-5)+(-8)=(-8)+(..)
(i) ~53+ie.=-53
(iii) 17+ . =0
(v)  [13+(=12) [+ (o) =13+ [ (-12)+(-7) ]

V) (4)+[15+(-3)]=[4+15]+......

#.3W4:
(i) (-5)+(-8)=(-8)+(-5) [arsg s fafea 7om)
(i) —53+0=-53 [X A TEHF 8]
(iii) 17+(-17)=0 [Osd deqH ]
(iv) [13+(12)]+(=7) =13+ (-12)+(-7)] (A TR 1707
W) (—4)+[15+(-3)]=[-4+15]+(-3) [arsa TR 1T
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